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3. The area of the region enclosed by the curves
y =coshz, y =1, and z = 2 is equal to
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8. If the region bounded by the curves y = sinz and y = cos z,

for0<z< Z, is revolved about the line £ = 7, then the
volume of the generated solid is given by
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9.  The volume of the solid generated by rotating the region

enclosed by the curves y = —, y = 0,z = 1, = 4 about
x
the z-axis is equal to
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The length of the curve y =
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15.  The series Z In (

(a) divergent by the n'" — term test for divergence
(b) convergent by the nt* — term test for divergence
(c) convergent by the integral test

(d) convergent by the comparison test

(e) divergent by the integral test

16.  Which one of the following series is Divergent?
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The coefficient of z* in the binomial series of (1+2z2)~1/3
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